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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the traditional bases of Indian Social System. 

Hkkjrh; lkekftd O;oLFkk ds ijEijkxr vk/kkjksa dh O;k[;k 

dhft,A 
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2. Define Caste. Differentiate between caste and  

class. 

tkfr dks ifjHkkf”kr dhft,A tkfr vkSj oxZ esa vUrj Li”V 

dhft,A 

3. Explain the main problems of backward classes in 

India. 

Hkkjr esa fiNM+s oxks± dh izeq[k leL;kvksa dks le>kb;sA 

4. Write the meaning of marriage. Write the main 

objectives of Hindu Marriage. 

fookg dk vFkZ crkb;sA fgUnw fookg ds izeq[k mís’;ksa dk 

mYys[k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Varna Vyavastha ? 

o.kZ O;oLFkk D;k gS \ 

2. Discuss the type of Ashrma. 

vkJe ds izdkj crkb;sA 

3. Discuss the objective of Sanskars. 

laLdkjksa ds mís’; crkb;sA 
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4. Define Muslim Marriage. 

eqfLye fookg dh ifjHkk”kk nhft,A 

5. What do you mean by Exogamy ? 

cfgfoZokg ls vki D;k le>rs gSa \ 

6. Difference between nuclear and joint family. 

,dkdh ,oa la;qDr ifjokj esa vUrj Li”V dhft,A 

7. What do you understand by Kinship ? 

ukrsnkjh ls vki D;k le>rs gSa \ 

8. Explain the concept of OBC (Other Backward Class). 

vU; fiNM+s oxZ dh vo/kkj.kk Li”V dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Hindu marriage is not a religious sacrament.  

     (True/False) 

fgUnw fookg ,d /kkfeZd laLdkj ugha gSA ¼lR;@vlR;½ 

2. Caste is a closed class. (True/False) 

tkfr ,d cUn oxZ gSA   ¼lR;@vlR;½ 
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3. Caste system is based on Karma.  (True/False) 

tkfr O;oLFkk dk vk/kkj deZ gSA  ¼lR;@vlR;½ 

4. Dharama is the last Purushartha of human life.  

     (True/False) 

/keZ ekuo thou dk vfUre iq#”kkFkZ gSA ¼lR;@vlR;½ 

5. Muslim marriage is not a social contract. (True/False) 

eqfLye fookg lkekftd le>kSrk ugha gSA ¼lR;@vlR;½ 

Match of the following : 

fuEufyf[kr dk lgh feyku dhft, % 

6. Big Size Tribe 

 cM+k vkdkj tutkfr 

7. Raji Joint Family 

 jkth la;qDr ifjokj 

8. Racial theory of Caste Kinship 

 tkfr dk iztkrh; fl)kUr ukrsnkjh 

9. Gandhrva Risley 

 xU/koZ fjtys 

10. Gotra Marriage 

 xks= fookg 
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